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Iq“r; : A,tnemp: all questmns Part (a) ‘carries 4 marks

and is conwulso:y Arrempr any two paris from
pa‘rt fb) (t.) amﬁ' (d) carrvlnq 8 marks each.
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1. (a) (i) State Maxin “m PbWérTfaﬂsfef'Theorcm
(if) Deﬁn@ Average powcr and Cemplem power.

(b) The negm,rk shown ir in the ﬁgure below is a simple
representlmon of a transistor. For this network,
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determine the Thevenin’s equivalent network for the
load R,
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(¢) In the network of the figure shown below, find v,

using Superposition theorem.
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(d) The network of the ﬁgure is operated in the smusmdal
steady with the element valuss glven and v1 = 100
cos 21. Deterrmne (a) the gomplgx pgwer generated
by the source, (b) thé;éﬁ;éctive cu}rent 1n each of
the passive elements, and (c) the complex power
for each of the passive elements.in the network..
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2. (a) () How is the behaviour of an energized and an

unenerglzed inductor at £= 0+ and 1 = =

(i) How’ a charged and an uncharged capacitor

behaves at ¢t = 0+ and ¢t = oo,

(b) In the network of the figure, switch K is changed

A
ol

Talidad

~+from position a to b at ¢ = 0: Solve for 7 difd and

dyildtyat £ =0+ ifR=1000 Q, L=1H, ('=0.|

uF and ¥ = 1000 V.
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(©) In'the circuit ;Shov‘/fﬁf"in the figure, the switch X is

closedat =0 ‘c'onnec'tingAa voltage V, singt , 1o

the parallel RL-RC circuit. Find (a) o, /dr and (b)

di, [di at {=0+.
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[41] (b) In the network of the figure, the switch K is moved

from position a to position'b at ¢ =0, a steady state

having previously becn established at position a,
Solve for current (r), using the Laplace

transformation method.

(d) In the network given, the initial voltage on C, is V.

and on C, is V, such that (0)=¥ ~and

v, (0)=V,. At 1=0, the switch is closed, determine |

the values of o, /dt and a’v2 [dtat t = O+ If |
(© The network of the ﬁgure reaches a steady state

1 with the sw1tch K At t = 0
= v dor and open. swnch K is

. e |
R=12C =1 GC=gt, |
5 il
: v closed de 1( ) usmg l.hc m.unencal values g1ven,

V=1, : , . hsing the Laplaceftransl‘omnauon method

Unit-TH

3. (a) State and prove Time Shifting Theorem. I (d) The wavefeml'-shqﬁil-ih the figure is.that of a full-
I B028314(028) rro
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wave rectified voltage. The equation for the
wavetorm is sin 7 from 0 to 7. —sin ¢ from 7 to

2 71t etc, Show that the transform of thts function is

= 1 0
I {5y =+5——Ccoth I
s+ 2

v
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Unit-IV

(a) Why h-parameters are called hybrid parameters?

Write the application of h-parameters?

(b) Why the zZ- parameters are called open circuit
1mpedance parameters? The network shown below
contains a voltage controlled source and a current
controlled source. For the element values specified,

_determine the y and z parameters.
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(c) The accompanying figure shows two two-port
networks connected in parallel. One two-port
" contains only a gyrator and the other is a resistive
network containing a single controlled source. For

this network, determirie the y-parameters.
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(d) The network of the ﬁgure represents a oertam
AR
tran51stor overa glven range of frequencxes For this

network, determine the h parameters. .
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- Unit-V

5. (a) Define Sinusoid: What is the relation between
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